5.07

Drawing them

e You need to know how many data items (often people) the pie chart has to

represent.

The whole pie chart has 360°. Find out how many degrees each (person) gets: 360 +
number of (people)

e To work out the size of each slice, multiply the angle found above by the number of

(people) in each category. Repeat for each slice.

Remember to mark an initial zero line on the pie chart and then measure the first
angle. Draw and label your first slice. Now move the zero line on your angle
measurer to the start of the next slice. Measure, draw, label and repeat.

Reading from them

To write the size of a slice as a fraction of the pie, measure the angle at the centre of
size of slice®

the slice and write :
360

To work out how many (people) this slice represents, you multiply the fraction found
above by the total number of data items (people) that the whole pie chart
represents.

Comparing them

If you are asked to compare information on two pie charts, DO NOT use words like
‘more’ or ‘less’ unless you know that the pie charts each represent the same totals of
data items, or you have actually calculated the number represented by each slice.
Otherwise you can only say ‘a larger proportion’ or ‘a smaller proportion of’ when
comparing.
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Craw a pie chart to reprasert the numoer of ica-cream sales made by LZzy's loes
You should show how you calculate the angles of your pie charl. [4]
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S.07
(o) On the same Sunday morming, anothar sse-cream van, Cameron's Cones, sold 90 ice
CICRAmS.
Cf theze 90 ice creams, 18 were chocolate flavour
Who sald the higher propartion of chocolate flavour ice creams?
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I'he e charis helow represent the number of bovs and the mumrber of grls in bwo year groups
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> “ There are 150 pupelsom year ¥
Fheere are 40 mere hovs i Year 8 than there are owsan Year 7
[5]

Toew many gizls im tonal ase theere i Yous 7 and Yoeor 87
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Tha wirning team of the S Mabionsz Rugby Tournament from 2000 to 2014 5 recorded in the

rahle bholow:

YEAR WINNING TE AM YEAR WINNING TEAM
2014 lretand . 20065 | France -

2013 Wales 2005 DWalks -

2012 'u'“a‘es 2004 France -

2011 England 2003  |Englandg |

---- ’D‘ID Franc& EI]-'E&? Frsnr-':e v o

2008 hc i:ld 200t | England .

2‘308 Wakps 20045 | Enéirarrrtdr- | i
2007 —Ftance x| o -

Use this data to draw g pee chart Lo dlustrate the number of times that cach team won the Six

Mations Rugby Tourrament from 2000 10 2014
You must show how you caiculate the angles of your pie chart.
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5.07

The pie charls show the precerton of boys to gifls in class 4 and class 8

Class &

Thers are morz pumls n class 2 thann class &
There are 4 boys o ciass 4
There are 7. timas as many girls i class B than n class A

How many boys are there o class 87

G i Gl Az 3y 212

Gl in o bz 1L+ g 1f
Jo in by B2 1421 = 9 bows

Class 2
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A sporis nuie e used the Inlluumg |*u'-.'|1.'a|'1 e illestrate the commtres Fromm swohach (ne st
IS Puropean Championship Loagus wimners came
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Sara plays a game 72 limes
Each game results m Sara garnng U points 1 poirt, 2 ooits or 3 points,

The piz chart below summansas the results of the 72 games played

I 2 porns |

Use the information from the pie chart to complate the frequency tablz below. and 1121 calculate
the maan number af 2omls Sare scoved pear gams
Gree your answer correcl 1o 1 desimal clace =3
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% fa) 36 000 people took part in a survey to find out their favourite type of TV programme.

The pie chart shows the results.

Talent shows Orama

1

News

Sport

(i) How many people chose Orama as their favourite type of TV programme?
You must show your working. [3]

(il  How many more people chose Sport rather than News as their favourite type of TV
programme?

You must show your working. [3]
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5.07
{iiy Twice as many women as men chose Talent shows as their favourite type of TV
programme.

Calculate how many women chose Talent shows.
You must show your working. [3]
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(b) 1000 people were asked,

'Should news programmes include details of the weather?
Yes or No?'

70% of the people answered 'yes’,

A pie chart is to be drawn to represent the answers to this question.
VWhat size would the angle be to represent the answer ‘yes'? [2]
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